Can You Match Flowers and Fruits?
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Kelly�
Answers: A, 6 = Whipple�s penstemon (Penstemon whippleanus, Plantaginaceae family); B, 4 = Stansbury�s cliffrose (Purshia stansburiana, Rosaceae family); C, 5 = Nuttall�s sego lily (Calochortus nuttallii, Liliaceae family); D, 1 = Roundleaf snowberry (Symphoricarpos rotundifolius, Caprifoliaceae family); E, 2 = fringed grass-of-Parnassus (Parnassia fimbriata, Parnassiaceae family); F, 3 = white checkerbloom (Sidalcea candida, Malvaceae family). © Jim Pisarowicz�


